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Q1. When 6892, 7105 and 7531 are divided by the greatest number x, then the remainder in each case

1s y. What 1s the value of (x-y)?

(2) 123 (b) 137 (c) 147 (d) 113

T 1. ST 6892, 7105 3 7531 bl T8 <] AT x © Tarwnisra fomam smar &, aedes feafa o swwet v 2
(x-y) T 0T T 8?

(37) 123 () 137 () 147 (<) 113



Q2. If the 9-digit number 45069x4y8 is divisible by 44, then what is the value of (x — 2y) for the
minimum value of y?

(@) 3(b)0(c)4(d) 1

T 2. Fq 9 Fehi sht AT 45069x4y8 44 § 1S &, T y o =IAaH 7H o6 fATT (x — 2y) 1 7 1 82
(%R) 3 (@) 0 (M) 4 (¥) 1



Q3. 2 If 60% of (x-y) = 45% of (x+y) and y=k% of x, then 21% of k is equal to:
(a)3 (b)6 (c)1 (d)7



Q4. If 80% of X 1s 36 more than 60% of Y and 120% of X is equal to Y, then the difference between

Xand Y is:

(2)90 (b)100 (c)60 (d)80

T 4. It X T 80%, Y o 60% T 36 M0 & 3T X T 120%, Y & SRS g, d X 3T Y o s T 3
FATR?

(T) 90 (siT) 100 (HT) 60 (S1) 80




Q5. , Some fruits are bought at a rate of 11 for Rs. 100 and equal number at a rate of 9 for Rs. 100. If all

the fruits are sold at a rate of 10 for Rs. 100, then what 1s the gain or loss percent in the entire

transaction?

T 51, %D e 11 I TH 100 T4 H I GHE ST H 9 T S H 100 T H @S I 8. Afe @il ol i
100 ¥ 5 10 3hT & T ST ST &, T L T H 7T A7 T T 37T 82
() T, 5% (1) BTH, 5% (&) ™™, 1% (1) B, 1%




Q6. Eight years ago, the ratio of ages of A and B was 9:10. The ratio of their ages four years from now

will be 12: 13. What is the age (In years) of C now, if his age is 6 years more than that of A?

(@) 56 (b)42 (¢)50 (d) 48
T 6. 313 TN T8, A I B hl 3R T STATT 9:10 ATl 3l H AR Y A& IAehT Y T AT 12: 13 BTN

afe IHEhT Y A T SR H 6 Y AR &, T 3Tl C shl I (AW H) T 82
(F) 56 (@)42 ()50 () 48




distance of 300 km than what train B takes to travel 250 km. What is the speed (In km/h) of A?

(@) 60 (b) 50 (c) 65 (d) 55

T4 7. ¢ A T, I B o 11 @ 25 fepei/sier Stferen 81 250 fohwl o gl & e | ¢ B okl geran | 300 fordft
1 QU T B H A, 4 5 7 EHT a1 8l A shl i (fopefl/eier H) = 22

(37) 60 (AHT) 50 (1) 65 () 55




Q8. The speed of a car increases by 2 km/h after every one hour. If the distance travelled in the first one

hour was 35 km, what was the total distance travelled in 12 hours?

(2)560 km (b)650 km (¢)558 km (d)552 km

T 8. Ueh Sh1¥ 1 T Sedeh Ueh B o o7 2 Terefl/siat s1g STt 21 afe weed Ueh €S o i 115 gl 35 Tohelt off, a1 12
S T T ohi TTE el U T ot

(37) 560 ToRHT () 650 ToRHT () 558 ToRHT (]) 552 TohHT




V.
he sides of a triangle are 8cm, 15cm & 17cm respectively. At each of its vertices, a circle of rad '
3.5cm 1s drawn. What 1s the area of the triangle excluding the portion covered by the sectors of the
circles? (TU=22/7)

(a) 23.5cm2 (b) 21.5 cm?2 (c) 47 cm2 (d) 40.75 cm?2

T 9. Ueh ST ohl SITU SHHRT: 8 WHT, 15 Gt 3T 17 Tl €. 6ok Tedish 30N WY, 3.5 QT 53 o1 Tk o Efi=n
SITAT 2 1 o Wl g1 7 T TTT 6w ot Bigert ForsT 1 &wat &1 82 (1L = 22/7 )

() 23.5 12 (b) 21.5 T2 (¢) 47 THI2 (d) 40.75 T2




Q10. A and B can do a certain work in 18 days and 30 days, respectively. They work together for 5

days. C alone completes the remaining work in 15 days. A and C together can complete 5/ 6 th part of

the same work in:

(a) 6 days (b) 8 days(c) 9 days (d) 5 days

T 10. A 3T B Uk Hfyd vl ohl shAsT: 18 feat 31T 30 foi 7 st werd 81 9 5 feA1 o fo7w ues 9rer &1 Rt
&1 C 3Tohcd Y 1 T 15 T&A1 H U AT &1 A 3T C THAFT SHT 313 oh 5/6 W skl fohel WA H G L Fehdl
¥

(a) 6 T&T (b) 8 |e (¢) 9 T (d) 5 &=




| Qll .The radius of the base of a conical tent 1s 7 m and its height 1s 24 m. What is the length of the

canvas that 1s 2.5 m wide required for this tent?

(A) 200 m (B) 240 m (C) 260 m (D) 220 m

T 1 1. T YT ] o JATET 3T ST 7 HIeT 8 3R 38kl HelTs 24 HieT 8. 36 v 6 oIl AT 2.5
HeT TS FaE I TS =T 22

(A) 200 Hto (B) 240 HI. (C) 260 HT. (D) 220 .




Q12. ABCD is a trapezium in which BC 1s 8, CD 1s 10, AD 1s 12 and AB is 16. If side AB ||DC then

find the sum of square of its diagonals
. (A) 208 (B) 320 (C) 528 (D) 428
9% 12. ABCD T @HeTH] =4Sl & fS/aw BC 8, CD 10, AD 12 3R AB 16 81 3 9 TSt ||DC d 56k

forepuTt o &t T T 1 TSI
. (¥) 208 (si1) 320 (HT) 528 (S1) 428




Q13. At a point on level ground, the angle of elevation of a vertical tower 1s found to be such that its

tangent 1s 5/12. On walking 192 metres towards the tower the tangent of the angle of elevation 1s 3/4.
Find the height of the tower :

(A) 160 m (C)240 m (B) 180 m . (D) 260 m

T 13. HHA S 0 Teh foig TT, ok Sealle HiT sht S~19 shivT $6 SehT TTT STt & foh geeht Tusf @
5/12 21 HHR T 37X 192 e I I I~ hIT shl T3t 3@r 3/4 2| Hi9R hl s 31d hifsr

(T) 160 HIET (ET) 240 HIEX (siT) 180 HIEX (D) 260 HIEX




Q14. The average age of 30 boys in a class 1s 15 years. One boy aged 20 years, left the class, but two new

boys came in his place the difference of whose ages was 5 years. If the average age of all the boys now in

the class still remains 15 years, the age of the younger newcomer is 55.

(1) 20 years (3) 10 years (5) None of these (2) 15 years

T 14. T BT H 30 TSk hl S 1Y 15 99 81 20 TN 3T T hT Teh ASHT HaT IS adl 8, Ao IHoh I
O 31 AT ASoh AT &, TSl 3R 31 S 5 a9 A1) TS hefl H 376 AT TSehi ohl HTed 1Y 7+ off 15 a9 ot g8

<, T JAT TN oh AT 55 a9 2




A man deposited ¥3,90,300 into the account of his two sons such that they will get equal money at their

18th birthday. Their ages today are 15 years. and 13 years. Rate of interest 1s 4% per annum. Find the
money deposited in their account.

(1)%130100,260200 (2) 202000, T188300 (3) ¥152000, 238300 (4) 202800, T187500

Ueh STk o 3T g1 921 o W | 3,90,300 T 39 TohX STHT T foh 38 3eh 18 J S-Hfe 9T @91+ & o,
JATST 395hT 3T 15 91T 81 37T 13 HTA| SIS X 4% i I 21 3ok GTd H STHT & JTd shiToTy)




Q15. By selling 45 lemons for ¥40 a man losses 20%. How many should he sell for 24 to gain 20%?
(1) 19 lemon (3) 20 lemon (4) None of these (2) 18 lemon
(2) T 15. 45 e 240 H = 9 Teh fh bl 20% hl BT BIAT 8. 20% T ATH HISId i 6 foIg 36 Teha
QARTH 3hT 24 H SI=HT AT
(3) (1) 19 s (3) 20 e (4) TTH € 15 7T (2) 18 e




Q16. . What 1s the ratio of the average of first eight prime numbers to the average of first ten even

natural numbers?
el TS SWIST HEATAT o e N It 38 H TTehidsh HEATSAT 6 6 3T ST 1 82
(@)1 :7(b)7:80(c)8:70(d)7:8




Q17. Rajan spent 10% of his salary on rent. He spent 20% of the remaining part of the salary on
transport. After which he spent 40% of the balance of the salary on food. Further, he spends 80% of the
balance on various bills. He deposits Rs.5000 in the bank and kept the remaining Rs.1480 for his own

petty expenditure. Find the monthly salary (in Rs).
TS A A T 10% ToRT 9T = shidT 21 98 Jd- o Y 9T T 20% IiesT I @< sHdT 8| 5k 918
3G Ad o AT AT 40% HISH T G [T 38k TATaT, a8 fafy= foret @ 91w afsr &1 80% &= @t 81 a8

e o 5000 T STHT AT & 3T IT 1480 T 39 BIE T o T T Il 2| HTHeh Ja (394 ) I

EAISR]
() 75000 (b) 80000 (c) 82500 (d) 64800




Q18. A man buys 8 mangoes for a rupee. How many mangoes had he sold for a rupee so that there

is a profit of 60 percent?

Ueh 3TTCHT Ueh ¥9 | 2 310 GHIEdT 2| 38 Teh &9 H fohd 319 &= o d1fer 30 Sfard <hi g1 g8
() 3 (b) 4 (c) 5 (d) none




Q19. Anu fixes the selling price of an article at 25% above its cost of production. If the cost of

production goes up by 20% and she raises the selling price by 10%, then her percentage profit is
(correct to one decimal place):

3T Teh e AT Torshdl {od SHeh! SIS AT | 25% 3Tersh 08 a8 Al Icq1e AN 20% 51§ STt & S
T Torora A T 10% AT g et &, AT SHehT AT FcITa 37T 82

(a) 16.4% (b) 14.6% (c) 13.8% (d) 15.2%




Q20. R wants to deposit 80,000 in the bank for a year. In his account, the bank gives 12% simple annual

interest but charges ¥3,000 as a processing fee for the account. What would be his percentage earnings in
the account?

R Ueh 8 o feTU Sfeh H £80,000 STHT shiHT ITEAT 2 39k WTd H, S 12% HTLUT STfYeh ST &l & Wik ©Td oh
[TT SEEahL0T Yeeh o &9 H 3,000 3T Yeoh T ol TTd H IHeh! 3T AT TTc21d AT G2

(a) 8.75% (b) 9% (c) 8.5% (d) 8.25%




Q21. The angle of elevation of the top of an incomplete vertical pillar at a horizontal distance of 100 m

from its base 1s 45°. If the angle of elevation of the top of complete pillar at the same point 1s to be 60

then the height of the incomplete pillar 1s to be increased by

Teh JAYUT Seal e &iW o ST shT IHeh ST H 100 m &IfersT gl 0 I~ shivT 45° B 3fe Uk & foig ot i &w
o TS 3T =T 10T 60 BT &, AT 3707 &G 31 FeTg fohef1 IgT3 ST &2
(A) 50sqrt{2} (B) 100 m (C) 100(sqrt{3}-1)m (D) 100(sqrt{3}+1)m




Q22. The radius of the base of a conical tent 1s 7 m and its height 1s 24 m. What is the length of the canvas

that 1s 2.5 m wide required for this tent?
T 22. Teh Y[FATohT ] oh ST 3T AT 7 HIET 8 3R 366kl HelTs 24 HieT 8. 36 vl o6 foTu AT 2.5 HiX
SIS HAdT shl ASTS T 22

(A) 200 m (C) 260 m (B) 240 m (D) 220 m




